NONLINEAR PERTURBATIONS OF LINEAR ACCRETIVE OPERATORS IN BANACH SPACES

BY

G. F. WEBB

ABSTRACT

It is shown that a strongly continuous semi-group of nonlinear nonexpansive operators can be constructed as $\lim_{n\to\infty} ((I + t/nB)^{-1} (I + t/nA)^{-1})^n$ where A is a linear *m*-accretive operator, B is a nonlinear *m*-accretive operator, and B satisfies a boundedness condition relative to A.

Introduction

The objective of this paper is to investigate the perturbation of a linear *m*-accretive operator *A* by a nonlinear *m*-accretive operator *B* in a general Banach space *X*. Many authors have studied perturbation theory for nonlinear accretive operators in general Banach spaces and some of these are listed in our references. The basic condition used in such investigations is that *B* be bounded or continuous relative to *A* in some sense which is a nonlinear analogue to the basic condition employed in the perturbation theory of linear accretive operators. Our results relate to the relatively regular case of I. Segal [10] and T. Kato [7]. In their work it is required that *B* be continuous'y Frechet differentiable from [D(A)] to *X* (or similar types of conditions), where [D(A)] denotes the domain of *A* regarded as a Banach space with graph norm ||x|| + ||Ax||. The basic conditions of our work here are that ||ABx|| satisfy a boundedness condition and that *B* be continuous from [D(A)] to *X*.

1. Definitions and theorems

In what follows $(X, \| \|)$ will denote a Banach space with norm $\| \|$. If B is an

Received March 2, 1972 and in revised form June 25, 1972

operator (possibly nonlinear) from X to X we will denote by D(B) the domain of B and by R(B) the range of B.

DEFINITION 1.1. An operator $B: X \to X$ is said to be *accretive* on X provided that

(1.1)
$$\|(I + \lambda B)x - (I + \lambda B)y\| \ge \|x - y\|$$
 for all $x, y \in D(B)$ and $\lambda > 0$.

If in addition, $R(I + \lambda B) = X$ for all $\lambda > 0$, we say that B is *m*-accretive.

DEFINITION 1.2. By a strongly continuous semi-group of nonexpansive operators U(t), $t \ge 0$, on X we mean a function U from $[0, \infty) \times X$ to X such that (1) U(t)U(s)x = U(t+s)x for all $t, s \ge 0$, $x \in X$; (2) $\lim_{t\to 0^+} U(t)x = U(0)x = x$ for all $x \in X$; and (3) $|| U(t)x - U(t)y || \le ||x - y||$ for all $x, y \in X$, $t \ge 0$. The *infinitesimal generator* of U(t), $t \ge 0$, is the function $B: x \to \lim_{t\to 0^+} (1/t) (U(t) - I)x$, defined for all x for which this limit exists.

The main theorem which we prove is the following:

THEOREM 1.1. Suppose that A is an m-accretive linear operator on X, B is an m-accretive nonlinear operator on X, B0 = 0, and D is a dense subset of X such that

(1.3)
$$D \subseteq D(A) \cap D(AB) \text{ and } 0 \in D;$$

(1.4) $(I + \lambda B)^{-1} (I + \lambda A)^{-1} (D) \subseteq D \text{ for all } \lambda > 0;$

- (1.5) $\|\|_0$ is a norm on D such that $(I + \lambda A)^{-1}$ and $(I + \lambda B)^{-1}$ are $\|\|_0$ -nonexpansive on D for all $\lambda > 0$;
- (1.6) There is an increasing function $L: [0, \infty) \to [0, \infty)$ such that for all $x \in D$, $||ABx|| \leq L(||x||_0) ||Ax||$.

Then, for all $x \in X$ and $t \ge 0$

(1.7)
$$U(t)x = \lim_{n \to \infty} ((I + (t/n)B)^{-1}(I + (t/n)A)^{-1})^n x$$

exists, the convergence is uniform on bounded t-intervals, and U(t), $t \ge 0$, is a strongly continuous semi-group of nonlinear nonexpansive operators on X.

We will use the methods of M. Crandall and T. Liggett [4] to prove Theorem 1.1. First we establish the following lemma:

LEMMA 1.2. Suppose that A is an m-accretive linear operator on X, B is a nonlinear m-accretive operator on X, $x \in D(A) \cap D(AB)$, and there exist positive

constants M and λ_0 such that for $0 \leq \lambda \leq \lambda_0$, $n = 1, 2, \cdots$, and $1 \leq k \leq n$, $((I + (\lambda/n)B)^{-1}(I + (\lambda/n)A)^{-1})^k x \in D(A)$ and (1.8) $\|AB((I + (\lambda/n)B)^{-1}(I + (\lambda/n)A)^{-1})^k x\| \leq M.$

Then, for $0 \leq t \leq \lambda_0$

(1.9)
$$U(t)x = \lim_{n \to \infty} ((I + (t/n)B)^{-1}(I + (t/n)A)^{-1})^n x \text{ exists, and}$$

(1.10)
$$|| U(t)x - U(t')x || \le 2(||Ax|| + ||Bx||)| t - t'|$$
 for $0 \le t \le t' \le \lambda_0$.

PROOF. Henceforth we shall use the notation that for $\lambda > 0$, $J_{\lambda} = (I + \lambda B)^{-1}$ $(I + \lambda A)^{-1}$. We first observe that $J_{\lambda/n}^{k} x \in D(A)$ implies $J_{\lambda/n}^{k} x \in D(AB)$, since D(A) is a linear subspace of X and

$$(I - (I + (\lambda/n)B)^{-1})(I + (\lambda/n)A)^{-1}J_{\lambda/n}^{k-1}x = (\lambda/n)BJ_{\lambda/n}^{k}x.$$

Next we establish the identity, for $0 < \mu \leq \lambda$ and $J_{\lambda}x \in D(A)$

(1.11)
$$J_{\lambda}x = J_{\mu}((\mu/\lambda)x + ((\lambda - \mu)/\lambda)J_{\lambda}x - \mu(\lambda - \mu)ABJ_{\lambda}x).$$

We shall use from [4] (Lemma 1.2-(iv)) the fact that

$$(I + \mu B)(I + \lambda B)^{-1} = (\mu/\lambda)I + ((\lambda - \mu)/\lambda)(I + \lambda B)^{-1}.$$

Set

$$\begin{aligned} (I + \mu A) & (I + \mu B)J_{\lambda}x \\ &= (I + \mu A) ((\mu/\lambda) (I + \lambda A)^{-1}x + ((\lambda - \mu)/\lambda)J_{\lambda}x) \\ &= (\mu/\lambda) ((\mu/\lambda)x + ((\lambda - \mu)/\lambda) (I + \lambda A)^{-1}x) + ((\lambda - \mu)/\lambda) (I + \mu A)J_{\lambda}x \\ &= (\mu/\lambda) ((\mu/\lambda)x + ((\lambda - \mu)/\lambda) (x - \lambda A(I + \lambda A)^{-1}x)) + ((\lambda - \mu)/\lambda) (I + \mu A) J_{\lambda}x \\ &= (\mu/\lambda)x - (\mu/\lambda) (\lambda - \mu)A(I + \lambda A)^{-1}x + ((\lambda - \mu)/\lambda)J_{\lambda}x + (\mu/\lambda) (\lambda - \mu)AJ_{\lambda}x \\ &= (\mu/\lambda)x + ((\lambda - \mu)/\lambda)J_{\lambda}x - \mu (\lambda - \mu)ABJ_{\lambda}x. \end{aligned}$$

We next establish the inequality, for $x \in D(A) \cap D(AB)$, $\lambda \ge 0$, and $k \ge 1$,

(1.12)
$$\|J_{\lambda}^{k}x - x\| \leq \sum_{i=1}^{k} \|J_{\lambda}x - x\|$$
$$\leq \sum_{i=1}^{k} \|x - (I + \lambda A) (I + \lambda B)x\|$$
$$\leq k\lambda(\|Ax\| + \|Bx\|) + k\lambda^{2}\|ABx\|.$$

Now let $0 \le \mu \le \lambda$, $k, j \ge 0$, and define $a_{k,j} = \|J_{\mu}^{j}x - J_{\lambda}^{k}x\|$. Next let $\alpha = \mu/\lambda$, and $\beta = 1 - \alpha$. If $n \ge j \ge 1$ and $m \ge k \ge 1$, then from (1.11)

G. F. WEBB

Israel J. Math.,

$$\begin{aligned} a_{k,j} &= \left\| J_{\mu}^{j} x - J_{\mu}((\mu/\lambda) J_{\lambda}^{k-1} x + ((\lambda - \mu)/\lambda) J_{\lambda}^{k} x - \mu (\lambda - \mu) A B J_{\lambda}^{k} x) \right\| \\ &\leq (\mu/\lambda) \left\| J_{\mu}^{j-1} x - J_{\lambda}^{k-1} x \right\| + ((\lambda - \mu)/\lambda) \left\| J_{\mu}^{j-1} x - J_{\lambda}^{k} x \right\| \\ &+ \mu(\lambda - \mu) \left\| A B J_{\lambda}^{k} x \right\| \\ &\leq \alpha a_{k-1,j-1} + \beta a_{k,j-1} + \mu (\lambda - \mu) M. \end{aligned}$$

By Lemma A in the Appendix of [6] we obtain, for $m \leq n$,

$$a_{m,n} \leq \sum_{j=0}^{m} \alpha^{j} \beta^{n-j} {n \choose j} \| J_{\lambda}^{m-j} x - x \|$$

+
$$\sum_{j=m}^{n} \alpha^{m} \beta^{j-m} {j-1 \choose m-1} \| J_{\mu}^{n-j} x - x \|$$

+
$$\left(\sum_{j=0}^{n-1} \sum_{i=0}^{(m-1)} {j \choose i} \alpha^{i} \beta^{j-i} \right) \mu(\lambda - \mu) M$$

and by Lemma 2.1 of [6] and by (1.12) above we obtain

$$\begin{aligned} a_{m,n} &\leq \sum_{j=0}^{m} \alpha^{j} \beta^{n-j} {n \choose j} \left((m-j)\lambda(\|Ax\| + \|Bx\|) + (m-j)\lambda^{2}M \right) \\ &+ \sum_{i=m}^{n} \alpha^{m} \beta^{j-m} {j-1 \choose m-1} \left((n-j)\mu(\|Ax\| + \|Bx\|) + (n-j)\lambda^{2}M \right) \\ &+ n\mu(\lambda - \mu)M \\ &\leq \left((n\alpha - m)^{2} + n\alpha\beta)^{\frac{1}{2}} (\lambda(\|Ax\| + \|Bx\|) + \lambda^{2}M) \\ &+ \left((m\beta/\alpha^{2}) + ((m\beta)/\alpha + m - n)^{2} \right)^{\frac{1}{2}} (\mu(\|Ax\| + \|Bx\|) + \mu^{2}M) \\ &+ n\mu(\lambda - \mu)M \\ &= \left((n\mu - \lambda m)^{2} + n\mu(\lambda - \mu) \right)^{\frac{1}{2}} (\|Ax\| + \|Bx\| + \lambda M) \\ &+ (m\lambda(\lambda - \mu) + (m\lambda - n\mu)^{2})^{\frac{1}{2}} (\|Ax\| + \|Bx\| + \mu M) + n\mu(\lambda - \mu)M. \end{aligned}$$

Taking $\mu = t/n$ and $\lambda = t/m$ where $0 \le t \le \lambda_0$ and $n \ge m$, we obtain

(1.13)
$$\| J_{t/n}^n x - J_{t/m}^m x \|$$
$$\leq t(1/m - 1/n)^{\frac{1}{2}} (2 \| Ax \| + 2 \| Bx \| + (t/m)M + (t/n)M)$$
$$+ t^2 (1/m - 1/n) M$$

and so $\lim_{n\to\infty} J_{t/n}^n x$ exists. Taking n = m, $0 \le t \le t' \le \lambda_0$, $\mu = t/n$, $\lambda = t'/n$, and letting $n \to \infty$, we obtain (1.10).

PROOF OF THEOREM 1.1. First observe that $||(I + \lambda B)^{-1}x|| \le ||x||$ for all

240

 $x \in X$ and $||(I + \lambda B)^{-1}x||_0 \leq ||x||_0$ for all $x \in D$, since B0 = 0. Next, if $x \in D$ and $0 < \lambda < 1/L(||x||_0)$, then

$$\|AJ_{\lambda}x\| \leq \|A(I + \lambda A)^{-1}x\| + \lambda \|ABJ_{\lambda}x\|$$

$$\leq \|Ax\| + \lambda L(\|J_{\lambda}x\|_{0}) \|AJ_{\lambda}x\|$$

$$\leq \|Ax\| + \lambda L(\|x\|_{0}) \|AJ_{\lambda}x\|,$$

which implies that

$$\|AJ_{\lambda}x\| \leq (1-\lambda L(\|x\|_0))^{-1} \|Ax\|.$$

Thus, if $x \in D$, $\lambda \ge 0$, $n > \lambda L(||x||_0)$, and $1 \le k \le n$, then

$$||AJ_{\lambda/n}^{k}x|| \leq (1 - (\lambda/n)L(||x||_{0}))^{-k}||Ax||,$$

which implies that

(1.14)
$$\|ABJ_{\lambda/n}^{k}x\| \leq L(\|J_{\lambda/n}^{k}\|_{0}) \|AJ_{\lambda/n}^{k}x\|$$
$$\leq L(\|x\|_{0}) (1 - (\lambda/n)L(\|x\|_{0}))^{-k} \|Ax\|.$$

By Lemma 1.2, if $x \in D$ and $\lambda > 0$, then $\lim_{n \to \infty} J^n_{\lambda/n} x$ exists. Since D is dense in X and the J_{λ} 's are nonexpansive on X, $\lim_{n \to \infty} J^n_{\lambda/n} x$ exists for all $x \in X$ and all $\lambda > 0$.

Define $U(t)x = \lim_{n \to \infty} J_{t/n}^n x$ for $x \in X$, $t \ge 0$. Obviously the nonlinear operators U(t), $t \ge 0$, are nonexpansive as the strong limits of nonexpansive operators. To see that U(t), $t \ge 0$, is strongly continuous we first note that if $x \in D$, then (1.10) yields the strong continuity of U(t)x, $t \ge 0$. Then the facts that U(t), $t \ge 0$, are nonexpansive and $D(A) \cap D(AB)$ is dense in X yield the strong continuity for all $x \in X$. Finally, we verify that U(t + s) = U(t) U(s), $t, s \ge 0$. Following [4] we have for $t \ge 0$, m, n positive integers, and $x \in X$,

$$(U(t))^m x = \lim_{n \to \infty} (J_{t/n}^n)^m x = \lim_{n \to \infty} (J_{t/n}^m)^n x$$

which implies

$$U(mt) = \lim_{n \to \infty} J^n_{mt/n} = \lim_{k \to \infty} J^{mk}_{mt/mk} = \lim_{k \to \infty} (J^m_{t/k})^k = U(t)^m.$$

Let l, k, m, n be positive integers and then

$$U(l/k + m/n) = U((ln + mk)/kn) = (U(1/kn))^{ln + km}$$

= $(U(1/kn))^{ln}(U(1/kn))^{km} = U(l/k)U(m/n)$

Thus, U(t + s)x = U(t)U(s)x where t, s are rational numbers and so by the strong continuity and nonexpansive property of U(t), $t \ge 0$, U(t + s)x = U(t) U(s)x for

for all $t, s \ge 0$, $x \in X$. Therefore, U(t), $t \ge 0$, is a strongly continuous semi-group of nonexpansive operators on X and the proof of Theorem 1.1 is complete.

We next investigate the relationship of the semi-group U(t), $t \ge 0$ (constructed in Theorem 1.1) to A + B. With additional hypothesis on A and B, we can show that the infinitesimal generator of U(t), $t \ge 0$, extends -(A + B). We first require the following.

DEFINITION 1.3. Suppose that A is an operator on X, B is an operator on X, and $D \subseteq D(A) \cap D(B)$. We define B to be A-continuous on D to mean that if $\{x_n\}_{n=1}^{\infty}$ is a sequence in D, $x_0 \in D$, $x_n \to x_0$, and $Ax_n \to Ax_0$, then $Bx_n \to Bx_0$.

THEOREM 1.4. Suppose that the hypothesis of Theorem 1.1 is satisfied. Suppose further that B is A-continuous on D. Let C be the infinitesimal generator of U(t), $t \ge 0$. Then, $D \subseteq D(C)$ and -Cx = (A + B)x for all $x \in D$.

PROOF. We first prove that for any $x \in X$

(1.15)
$$\lim_{t \to 0} \left\| (I + (t/n)A)^{-k}x - x \right\| = 0$$

uniformly for all $n = 1, 2, \dots$, and $1 \le k \le n$. But since D(A) is dense in X and $(I + (t/n)A)^{-k}$ is a contraction, it suffices to prove the result for $x \in D(A)$, in which case it follows from

$$\| (I + (t/n)A)^{-k}x - x \|$$

$$\leq \sum_{i=1}^{k} \| (I + (t/n)A)^{-i}x - (I + (t/n)A)^{-(i-1)}x \|$$

$$\leq k \| (I + (t/n)A)^{-1}x - x \|$$

$$\leq (kt/n) \| Ax \| \leq t \| Ax \|.$$

Next we note the following identity (which one proves by induction): For $n = 1, 2, \dots, 1 \le i \le n, x \in X$, and $t \ge 0$,

(1.16)
$$J_{t/n}^{i}x = (I + (t/n)A)^{-i}x - (t/n)\sum_{k=1}^{i} (I + (t/n)A)^{-(i-k)}BJ_{t/n}^{k}x.$$

We will use these facts below to show that if $x \in D$ then,

(1.17)
$$\lim_{t\to 0} \left\| (1/t) (U(t)x - x) + (A + B)x \right\| = 0.$$

It suffices to show that for any decreasing sequence of positive numbers $\{t_m\}_{m=1}^{\infty}$ converging to 0

(1.18)
$$\lim_{m\to\infty} \left\| (1/t_m)(U(t_m)x - x) + (A+B)x \right\| = 0.$$

Let $x \in D$, $\{t_m\}_{m=1}^{\infty}$ decrease to 0, and $\varepsilon > 0$. By virtue of (1.13) and (1.14), we have that for all $m = 1, 2, \dots, n = 1, 2, \dots$,

$$\| U(t_m)x - J_{t_m/n}^n x \|$$

$$\leq t_m (1/n)^{\frac{1}{2}} (2\| Ax \| + 2\| Bx \| + (t_m/n)M) + t_m^2 (1/n)M$$

where M depends only on x and the sequence $\{t_m\}_{m=1}^{\infty}$. Thus, there exists an n such that

(1.19)
$$(1/t_m) \| U(t_m) x - J_{t_m/n}^n x \| < \varepsilon/4 \text{ for all } m = 1, 2, \cdots.$$

Then, for all $m = 1, 2, \cdots$,

$$\| (1/t_m) (U(t_m)x - x) + (A + B)x \|$$

$$< \varepsilon/4 + \| (1/t_m) (J_{t_m/n}^n x - x) + (A + B)x \|$$

$$= \varepsilon/4 + \| (1/t_m) ((I + (t_m/n)A)^{-n}x - x$$

$$- (t_m/n) \sum_{i=1}^n (I + (t_m/n)A)^{-(n-i)} BJ_{t_m/n}^i x) + (A + B)x \|$$

$$\leq \varepsilon/4 + \| (1/t_m) (I + (t_m/n)A)^{-n}x - x) + Ax \|$$

$$+ (1/n) \sum_{i=1}^n \| (I + (t_m/n)A)^{-(n-i)} BJ_{t_m/n}^i x - Bx \|$$

(1.20)
$$\leq \varepsilon/4 + \| (1/t_m)(I + (t_m/n)A)^{-n}x - x) + Ax \|$$

(1.21)
$$+ (1/n) \sum_{i=1}^{n} \|BJ_{t_m/n}^{i} x - Bx\|$$

(1.22)
$$+ (1/n) \sum_{i=1}^{n} \| (I + (t_m/n)A)^{-(n-i)}Bx - Bx \|.$$

Then, there exists m_1 such that the second term of (1.20) $< \varepsilon/4$ for all $m \ge m_1$ by virtue of (1.15) and the following inequality:

(1.23)
$$\| (1/t_m)(1 + (t_m/n)A)^{-n}x - x) + Ax \|$$
$$= \| (1/t_m)(t_m/n) \sum_{i=1}^n A(I + (t_m/n)A)^{-i}x - Ax \|$$
$$\leq (1/n) \sum_{i=1}^n \| (I + (t_m/n)A)^{-i}Ax - Ax \|.$$

Next, there exists m_2 such that $(1.21) < \varepsilon/4$ for all $m \ge m_2$ by virtue of the facts that B is A continuous, (1.12), (1.14), (1.23), and the following inequalities:

$$\begin{split} \|AJ_{t_m/n}^i x - Ax\| \\ &= \|A((I + (t_m/n)A)^{-i}x - (t_m/n)\sum_{k=1}^i (I + (t_m/n)A)^{-(i-k)}BJ_{t_m/n}^k x) - Ax\| \\ &\leq \|(I + (t_m/n)A)^{-i}Ax - Ax\| \\ &+ (t_m/n)\sum_{k=1}^i \|(I + (t_m/n)A)^{-(i-k)}ABJ_{t_m/n}^k x\| \\ &\leq \|(I + (t_m/n)A)^{-i}Ax - Ax\| \\ &+ t_m L(\|x\|_0)(1 - (t_m/n)L(\|x\|_0))^{-i}\|Ax\|. \end{split}$$

Finally, there exists m_3 such that $(1.22) < \varepsilon/4$ for all $m \ge m_3$ by virtue of (1.15). Thus, for $m \ge \max\{m_1, m_2, m_3\}$

$$\left\| (1/t_m) \left(U(t_m) x - x \right) + (A + B) x \right\| < \varepsilon$$

which implies (1.18) and the theorem is proved.

THEOREM 1.5. Suppose that the hypothesis of Theorem 1.1 is satisfied. Suppose further that A + B is m-accretive. Then, for all $x \in X$ and $t \ge 0$,

(1.24)
$$\lim_{n \to \infty} ((I + (t/n)B)^{-1}(I + (t/n)A)^{-1})^n x = \lim_{n \to \infty} (I + (t/n)(A + B))^{-n} x.$$

PROOF. We first observe that $\lim_{n\to\infty} (I + (t/n)(A + B))^{-n}x$ exists for all $x \in X$, $t \ge 0$, by virtue of Theorem I in [4]. Next observe that for $z \in D$, $\lambda > 0$,

$$(I + \lambda(A + B))z = (I + \lambda A)(I + \lambda B)z - \lambda^2 ABz.$$

Then, recalling (1.4), we have for all $x \in D$, $\lambda > 0$,

$$\| (I + \lambda(A + B))^{-1}x - (I + \lambda B)^{-1}(I + \lambda A)^{-1}x \|$$

$$\leq \| x - (I + \lambda(A + B))(I + \lambda B)^{-1}(I + \lambda A)^{-1}x \|$$

$$= \lambda^2 \| AB(I + \lambda B)^{-1}(I + \lambda A)^{-1}x \|.$$

Now let $x \in D$, t > 0, $n \ge 1$, and we have that

$$\left\| (I + (t/n)(A + B))^{-n}x - ((I + (t/n)B)^{-1}(I + (t/n)A)^{-1})^n x \right\|$$

$$\leq \sum_{i=1}^n (t/n)^2 \| AB((I + (t/n)B)^{-1}(I + (t/n)A)^{-1})^i x \|.$$

By (1.14) we see that (1.24) is true for all $x \in D$. But since D is dense in X, (1.24) holds for all $x \in X$.

Vol. 12, 1972

Our final result is due to A. Pazy, whose helpful suggestions in revising this paper we gratefully acknowledge.

THEOREM 1.6. Let A be a densely defined closed linear m-accretive operator on X. Let B be accretive everywhere defined and continuous on X. Then, for all $x \in X$ and $t \ge 0$,

(1.25)
$$\lim_{n \to \infty} ((I + (t/n)B)^{-1}(I + (t/n)A)^{-1})^n x$$
$$= \lim_{n \to \infty} (I + (t/n)(A + B))^{-n} x.$$

PROOF. The existence of $\lim_{n\to\infty} (I + (t/n)(A + B))^{-n}x$ follows from [13], where it was proved that A + B is *m*-accretive, and Theorem I of [4]. If we can prove that

(1.26)
$$\lim_{\lambda \to 0} (1/\lambda) (I - (I + \lambda B)^{-1} (I + \lambda A)^{-1}) x = (A + B) x$$

for all $x \in D(A)$, then (1.25) will follow from Corollary 4.3 of H. Brezis and A. Pazy [2]. But (1.26) follows from

$$\| (1/\lambda) (I - (I + \lambda B)^{-1} (I + \lambda A)^{-1}) x - (A + B) x \|$$

$$\leq \| (1/\lambda) ((I + \lambda A)^{-1} x - (I + \lambda B)^{-1} (I + \lambda A)^{-1} x) - B x \|$$

$$+ \| (1/\lambda) (x - (I + \lambda A)^{-1} x) - A x \|$$

$$= \| B (I + \lambda B)^{-1} (I + \lambda A)^{-1} x - B x \| + \| (I + \lambda A)^{-1} A x - A x \|$$

and the continuity of B.

2. Examples

We conclude with two examples illustrating the hypothesis of Theorem 1.1.

EXAMPLE 2.1. Let $X = L_{[0,\infty]}^{p}$ where $1 \leq p < \infty$. Let Ax = -x', $D(A) = \{x \in X : x' \in X\}$. Let b be a continuously differentiable nondecreasing realvalued function defined everywhere on the real line R such that b(0) = 0 and define $B: X \to X$ by (Bx)(s) = b(x(s)) for all $x \in X$ such that $Bx \in X$. Let $A_1x = -x'$, $D(A_1) = \{x \in C_{[0,\infty]} : x' \in C_{[0,\infty]}\}$, where $C_{[0,\infty]}$ is the space of bounded uniformly continuous real-valued functions on $[0, \infty)$. It is well-known that A is a linear m-accretive operator on X, B is a nonlinear m-accretive operator on X, and A_1 is a linear m-accretive operator on $C_{[0,\infty]}$. Let $D = D(A) \cap D(A_1) \cap D(AB)$ and it is obvious that D is dense in X. We shall verify below the conditions (1.3), (1.4), (1.5), and (1.6).

We show first that $(I + \lambda A)^{-1}(D(A) \cap D(A_1)) \subseteq D(A) \cap D(A_1)$ for all $\lambda > 0$.

Suppose $x \in D(A) \cap D(A_1)$ and let $y = (I + \lambda A)^{-1}x$. Obviously, $y \in D(A)$. Furthermore, y satisfies uniquely $y(t) - \lambda y'(t) = x(t)$ where $y \in X$. Then,

$$y(t) = \exp(t/\lambda) (y(0) - (1/\lambda) \int_0^t \exp(-s/\lambda)x(s)ds)$$

$$y(0) = (1/\lambda) \int_0^\infty \exp(-s/\lambda)x(s)ds$$

(since if $y(0) \neq (1/\lambda) \int_0^t \exp(-s/\lambda)x(s) ds$, then $y \notin X$). But y is also in $C_{[0,\infty]}$ and so y satisfies $y(t) - \lambda y'(t) = x(t)$ uniquely for $y \in C_{[0,\infty]}$. Hence, $(I + \lambda A)^{-1}x$ $= (I + \lambda A_1)^{-1}x$ and so $y \in D(A_1)$ and $(I + \lambda A)^{-1}$ and $(I + \lambda A_1)^{-1}$ agree on $D(A) \cap D(A_1)$.

We show next that $(I + \lambda B)^{-1}(D(A) \cap D(A_1)) \subseteq D(A) \cap D(A_1)$. Let $x \in D(A) \cap D(A_1)$ and let $y = (I + \lambda B)^{-1}x$. Then, $y = (I + \lambda B)^{-1}(x)$ and

$$y' = x'/(1 + \lambda b') ((I + \lambda B)^{-1}x).$$

Since b is nondecreasing and continuously differentiable, $y' \in X$ and $y' \in C_{[0,\infty]}$. Thus, $(I + \lambda B)^{-1}x \in D(A) \cap D(A_1)$. Note also that

$$\| (I + \lambda B)^{-1} x \|_{C[0,\infty]} \leq \| x \|_{C[0,\infty]}, x \in D(A) \cap D(A_1)$$

because $(I + \lambda b)^{-1}$ is Lipschitz continuous with Lipschitz constant 1 and $(I + \lambda b)^{-1}0 = 0$. Thus, (1.4) is satisfied, since if $x \in D(A) \cap D(A_1)$, then

$$B(I + \lambda B)^{-1}(I + \lambda A)^{-1}x = (1/\lambda)(I - (I + \lambda B)^{-1})(I + \lambda A)^{-1}x$$

and so $(I + \lambda B)^{-1}(I + \lambda A)^{-1}x \in D(A) \cap D(A_1) \cap D(AB)$. Obviously (1.3) is satisfied and the remarks above show that (1.5) is satisfied for $\|\|_0 = \|\|_{C[0,\infty]}$.

It remains to show (1.6) Let $x \in D$ and then

$$\|ABx\|_{L^{P}_{[0,\infty]}}^{P} = \int_{0}^{\infty} |(b'(x) \cdot x')(s)|^{P} ds$$
$$\leq \|b'(x)\|_{C_{[0,\infty]}}^{P} \|Ax\|_{L^{P}_{[0,\infty]}}^{P}$$

which implies that

$$\|ABx\|_{\mathcal{X}} \leq L(\|x\|_0) \|Ax\|_{\mathcal{X}}$$

where $L: [0, \infty) \to [0, \infty)$ is an increasing function such that $(b'(r)) \leq L(|r|)$ for all real numbers r. Thus all the conditions of Theorem 1.1 are verified. For an example of b in Example 2.1, one could take p = 1 and $b(s) = s^3$ and we note that in this case B is not everywhere defined, not continuous, and D(A) is not contained in D(B). EXAMPLE 2.2. Let $X = L^{1}_{(-\infty,\infty)}$, let Ax = -x'', $D(A) = \{x \in X : x'' \in X\}$, let b be a twice continuously differentiable nondecreasing real-valued function defined on the real line R such that b(0) = 0 and define $B: X \to X$ by (Bx)(s) = b(x(s))for all $x \in X$ such that $Bx \in X$. Let $C_{[-\infty,\infty]}$ be the space of bounded and uniformly continuous realvalued functions on $(-\infty,\infty)$. It is well-known that A is a linear m-accretive operator on X and B is a nonlinear m-accretive operator on X and also on $C_{[-\infty,\infty]}$ where its domain is taken as all $x \in C_{[-\infty,\infty]}$ such that $Bx \in C_{[-\infty,\infty]}$. Let $D = D(A) \cap D(AB) \cap C_0^2(R) = C_0^2(R)$, where $C_0^2(R)$ denotes the space of twice continuously differentiable functions on R with compact support. It is clear that D is dense in X. We shall show that the conditions of Theorem 1.1 are all satisfied.

We first show that $(I + \lambda A)^{-1} (C_0^2(R)) \subseteq C_0^2(R)$ for all $\lambda > 0$. Suppose $x \in C_0^2(R)$ and let $y = (I + \lambda A)^{-1}x$. Thus y satisfies uniquely $y(t) - \lambda y''(t) = x(t)$ where $y \in X$. Then,

$$y(t) = (1/2\sqrt{\lambda})(\exp(t\sqrt{\lambda})\int_{t}^{\infty}\exp(-s/\sqrt{\lambda})x(s)ds$$

$$-\exp(-t/\sqrt{\lambda})\int_{t}^{\infty}\exp(s/\sqrt{\lambda})x(s)ds)$$

$$= (1/2\sqrt{\lambda})(\exp(-t/\sqrt{\lambda})\int_{-\infty}^{t}\exp(s/\sqrt{\lambda})x(s)ds)$$

$$-\exp(t/\sqrt{\lambda})\int_{-\infty}^{t}\exp(-s/\sqrt{\lambda})x(s)ds)$$

since y satisfies the above differential equation and $y \in X$ (note that $x \in C_0^2(R)$ implies the integrals above exist). From the expressions for y above, it is clear that y is twice continuously differentiable with compact support. Hence, $(I + \lambda A)^{-1}$ leaves $C_0^2(R)$ invariant. Note further that

$$\| (I + \lambda A)^{-1} x \|_{c_{[-\infty,\infty]}} \le \| x \|_{c_{[-\infty,\infty]}}, x \in C_0^2(R),$$

since $A_1x = -x''$, $D(A_1) = \{x \in C_{[-\infty,\infty]} : x'' \in C_{[-\infty,\infty]}\}$ is an *m*-accretive linear operator on $C_{[-\infty,\infty]}$ and $(I + \lambda A)^{-1}x = (I + \lambda A_1)^{-1}x$ for all $x \in C_0^2(R)$ (by the uniqueness of the solutions to $y - \lambda y'' = x$).

Now observe that $(I + \lambda B)^{-1}(C_0^2(R)) \subseteq C_0^2(R)$, since $(I + \lambda B)^{-1} = (I + \lambda b)^{-1}(x)$ and b is twice continuously differentiable and nondecreasing. Note also that $\| (I + \lambda B)^{-1} x \|_{c_{[-\infty,\infty]}} \leq \| x \|_{c_{[-\infty,\infty]}}$. Therefore, (1.4) is satisfied, since if $x \in C_0^2(R) \subseteq D(A)$,

$$B(I + \lambda B)^{-1}(I + \lambda A)^{-1}x = (1/\lambda)(I - (I + \lambda B)^{-1}(I + \lambda A)^{-1}x)$$

and so $(I + \lambda B)^{-1}(I + \lambda A)^{-1}x \in D(A) \cap D(AB) \cap C_0^2(R) = D$. Obviously (1.3) is satisfied and we have established above that condition (1.5) is satisfied for $\| \|_0 = \| \|_{C_{[-\infty,\infty]}}$.

Finally, we show (1.6) is satisfied. Let $x \in D$. Then, by integration by parts,

$$\|ABx\|_{L_{(-\infty,\infty)}^{1}}^{1} = \int_{-\infty}^{\infty} |(b''(x) \cdot x'^{2} + b'(x) \cdot x'')(s)| ds$$

$$\leq \|b''(x)\|_{C_{[-\infty,\infty)}} \left(-\int_{-\infty}^{\infty} x''(s)x(s)ds\right) + \|b'(x)\|_{C_{[-\infty,\infty)}} \int_{-\infty}^{\infty} x''(s)| ds$$

$$\leq \|b''(x)\|_{C_{[-\infty,\infty)}} \|x\|_{C_{[-\infty,\infty)}} \|x''\|_{L_{(-\infty,\infty)}^{1}}^{1} + \|b'(x)\|_{C_{[-\infty,\infty]}} \|x'''\|_{L_{(-\infty,\infty)}^{1}}^{1}$$

$$= (\|b''(x)\|_{0} \|x\|_{0} + \|b'(x)\|_{0}) \|Ax\|_{X}$$

$$\leq (L_{1}(\|x\|_{0}) \|x\|_{0} + L_{1}(\|x\|_{0})) \|Ax\|_{X}$$

where $L_1: [0, \infty) \to [0, \infty)$ is an increasing function such that $b'(r) \leq L_1(|r|)$ and $b''(r) \leq L_1(|r|)$ for all real numbers r. Thus, (1.6) is satisfied with $L(r) = L(r) \cdot r + L_1(r)$ and so all the conditions of Theorem 1.1 are verified.

References

1. V. BARBU, Nonlinear Semigroups and Evolution Equations, Iasi, Rumania, 1970.

2. H. BREZIS and A. PAZY, Convergence and approximation of semigroups of nonlinear operators in Banach spaces, J. Functional Analysis 9 (1972), 63-74.

3. B. CALVERT and K. GUSTAFSON, Multiplicative perturbation of nonlinear m-accretive operators, J. Functional Analysis 10 (1972), 149–158.

4. M. CRANDALL and T. LIGGETT, Generation of semi-groups of nonlinear transformations on general Banach spaces, Amer. J. Math. 93 (1971), 265–298.

5. M. CRANDALL and A. PAZY, Nonlinear semi-groups of contractions and dissipative sets, J. Functional Analysis 3 (1969), 376-418.

6. M. CRANDALL and A. PAZY, Nonlinear evolution equations in Banach spaces, Israel J. Math. 11 (1972), 57–94.

7. T. KATO, Nonlinear evolution equations in Banach spaces, Proc. Symp. Appl. Math. 17, Amer. Math. Soc. Providence, Rhode Island, 1965, pp. 50-67.

8. T. KATO, Accretive operators and nonlinear evolution equations in Banach spaces, Proc. Symp. Pure Math. 18, Part I, Amer. Math. Soc., Providence, Rhode Island, 1968, pp. 138-161.

9. J. MERMIN, Accretive operators and nonlinear semigroups, thesis, Berkeley, 1968.

10. I. SEGAL, Non-linear semi-groups, Ann. of Math. 78 (1963), 339–364.

11. I. SEGAL, Dispersion for non-linear relativistic equations, II, Ann. Sci. École Norm. Sup. 4e serie, 1 (1968), 459-497.

12. W. STRAUSS, Scattering for hyperbolic-equations, Trans. Amer. Math. Soc. 108 (1963), 13-37.

13. G. WEBB, Continuous nonlinear perturbations of linear accretive operators in Banach spaces, J. Functioual Analysis 10 (1972), 191-203.

14. K. YOSIDA, Functional Analysis, Springer-Verlag, New York, 2nd Edition, 1968.

VANDERBILT UNIVERSITY

NASHVILLE, TENNESSEE 37235